EAGRAROBREERT — 2 N— ABISH —F 2020547198 (H) 2@£R1HB

mﬂﬁ% 3 B5 B R
[A&£] 1 %&:270,000 M ~ 27#&:75,000 ™ ~ 3#&:37,000H  437#&:27,000 " . 57 :21,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
— — s FEHEIBAA 1:31. 2-0-2-1 7. — 1 2 £HE—8 (2R
1188 THYIEX L 2P e o | BEEE
L:r07x B7E-ILI-—F HE77—»4L
= 0 i 3 | EEBTE 1:31.7 1-1-1-1 | 38.1| — 6 516 | DIEEFIZE (£IR)
218/9|7—7%rOT1> 54.0 (7€) (g |8 K1ZUNA#S
LTI A Ny b B:Y—VYy IR INHINAT 7— L

GARA AR 4 3 | HERE 1:33.3 5-4-4-4 | 39.4| — 2 480 | EBER (£R)
1 6 I by RHKRRX 56.0 ®) (+10) | O
LixLvvH s XwE BITINTILEY EYFHTr—L
. 5 S 4 3 | REKA 1:33.3 3-3-2-3 [39.6| — 3 456 | BRI (£R)
4171 7|2A82=201va 56.0 (NF) 2 | (B J P NEH
R:b—trRILEY BVIF—ZFT Y5 4B
< — = 3 | AREHD 1:35.8 6-6-6-6 |39.5| — 4 451 | @EFEZ (2R)
sB 3| 7 ETNTAZ * 453.0 (51) s | FHE—
R:TZRT4— B:IFTI—TA4LK FIER  SRTHE
= 5 4 3 | FHELE 1:37.5 7-7-7-7 | 40.6 | — 8 445 | RMERE (£R)
o2 VTARBIAX 54.0 @ G | (B J PN
XTIy IaMK B:F5X7TO-F BNT S H 5B
" 4 3 | EASK 1:37.5 3-4-5-5 |42.8| — 7 423 | DIEERDZE (£IR)
7|55 F7%Y 54.0 (7€) (19 | FHE

RN v =L B:LIFUT JIAN—Z TR 52—

= = S 4 3 | AEB 1:39.5 8-8-8-8 |42.1| — 5 446 | NIIRBABL (£R)
Eﬂ4 SA4T7477ya 56.0 (54 4) 1) = R F

LIA9>T7592a BiYx—TI4—> B
11| N T 2T TT =0 3 | ZEEA o - ol Bl e NS (&)
:TVYA XTI N B AT7AHI-IT HABHBS
@ 11— F—EBIBLL
13—7%— ]9.8,(57),6,3,2,4
23—7— |9,8,7,(56),3,2,4
33—%— |9.(7,8),6,5,3,2,4
43—7F— | (8,9.7,6,53,2,4
[ /N2
BB 8 190 | [ 74 K 8-9 390M | | # = 8-8 2,430/ | | 3EH8 6-8-9 520/
7 B 8 100/ 6-8 130/ | | # # 8-8 3,690/ | | xEs 8-9-6 5,140/
9 370M™ 6-9 270Mm | | /S = 8-9 2,820M
6 130M B H 8-9 3,260

ARICOVWTRDTEEERROODE. TR LI,



